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Read the instructions and do as directed. 

Q I) Fill in the blanks with the correct answer. 

1) When a number is subtracted from itself the difference is _____________. 

 

2) 1 less than 70,000 is _____________. 

 

3) The difference between 35,000 and 12,000 is _____________. 

 

4) 56,467 – _____________ = 56,467 

 

5) 98,999 + 1= _____________. 

 

6) 10,000 = ____________ Hundreds. 

 

Q II) Solve the following. 

 

a. Find the sum of 98,564 and 34,897.            b. Subtract 32,402 from 40,500.  

   

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

__________________________________________________________________________ 
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Q III) Subtract and check your answer using addition. 

 

98,005 – 47,146                                                      CHECK   

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

__________________________________________________________________________ 

 

Q IV) Read the word problem, identify the operation and solve them using appropriate 

statements and working. 

 

1. A milk dairy produces 25,545 litres of milk every day. It supplies 15,625 litres of milk to a 

milk depot and the rest to the market. How many litres of milk is supplied to the market? 

 

Statements Working 

  

  

  

  

  

 

2. Rohan bought a mobile for ₹ 10,654 and a laptop for ₹ 45,908. How much money 

did he spend on both devices? 

 

Statements Working 
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